N RNA
PLAYGROUNDS

designed for sustainable and creative play

LE20224U

LE20224

~N
J :Ds
®
SMART FSC
ROBINIA wwwisc.org
PRE-DRILLED FSC* C105341
SYSTEM
The mark of
responsible forestry
J

03-10-2024 / Rev.: F



LE20224U

LE20224

3680 1574

1583
=
>
X
)

2303

llolv

800

I I
I I
I I
I I
I I
I I
I I
| |
o I I
o ! |
Te] I |
N | |
I I
I I
I I
I I
I I
I I
| |
I I
I I
6300
7300
18,3m? 7,3x2,5x2,3m ~213 kg ~0,15m? ?12x320cm 49Kkg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



LE20224U

LE20224

S12278

RS00176

LE26136

\

512275

Parts List

QTY | PART NO DESCRIP.

LE26136 | Swing seat basket @1250mm

S12278 Steel beam

S12275 |Endplate

AIN|= =

RS00176 |@100-120x3200mm




LE20224U

LE20224

,,,,,,,,

3680
Il ||
™
0
n| O
~ o
\ g
2411 739 739 2411
1477
){ee | P
o
0 ©
2 @
‘ -
o [
I +——- - —
I3\ %; ‘
% |
>
! ©
g

3572




LE20224U

LE20224

LE16098 LE16532
LE16538
LE16104 LE16080
LE16530
LE40214
$12278
LE16224
S12275
IS
”\
LE16215 §§§§\&
LE16530 \\
LE16250

Parts List LE13019

QTY| PARTNO DESCRIP.

2 |B10050 Safety chain 6mm L:20cm

4 |LE13018 Button

2 |LE13019 Pin RS00176

8 |LE16080 10x25mm bottomhead

4 |LE16098 M12x1,25mm nut

12 |LE16104 M10x1,25mm nut LE13018

4 |LE16153 M10 - @29mm

4 |LE16215 M10x90mm bolt

4 |LE16224 M12x120mm bolt r—— - — —
8 |LE16250 M10x60mm hex screw L@

20 |LE16530 M10 nut cap B10050 | =

4 |LE16532 M12 nut cap

16 |LE16538 Cap @12-14mm I [f

4 |LE16556 @42/38mm | : NO(TE%%%&Q)
2 |LE40214 Swing Joint " Lubricating paste
4 |RS00176 100-120x3200mm | i
2 | 812275 Endplate

1 1812278 Steel beam L — — — — —




LE16601

LE15910

LE20224U
LE20224

LE13100

LE15901

o]

IID"

Parts List

QTY

PART NO

DESCRIP.

LE13100

Shackle

LE15901

3x16, PH

LE15904

Max 4 pers. tag

LE15910

Name tag

alalalo|ls

LE16601

Locktite 5ml (Glue)

LE16538

Cap @12-14mm

LE15904

LE15901

LE15904




